Parts List .«..x:

B 1N FL 4

Model: BC234M =YY AT—R 524959






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R DEE R E ZSRBZEL,

MamlEwnd THRILMIESRSR ] Z2THERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR—=UIZFig XXBSRBERTLTHYET . COXXKITAFAIM—D
ELDORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeeeeeeeesessseseseeeeeeeseeeeeeeeeeeeeeee e 1~2
2. IOV (DTUDT =R DU e 3~6
I SRV QU b B 190 R St 3 B 7~38
4. T (FvTLR BEBFUD) eeeessessesiessse 9~ 10



1. BC234M
X K




RHEES | HaES B & o &% & =
1-1 364875 | BC234M 1
1-2 227923 | TUNIVY 1 | 7X1523L SP-18
1-3 227925 | K OVUNAhUIbA 1
1-4 215532 | fiv44=%") 1
1-5 054691 | VhT49 9347 1 | 6794
1-6 089738 | 6 HYKILb 1 | M5X15
1-7 215418 | nUNLMYEATY H34T 1 | 8794
1-8 092561 | 6 hY& Wb (+)SW 6 | M5X25
1-9 225835 | ¥ ¥hr—-A49347 1 |10~ 15744
1-10 225897 | 6 AU ILE (HW 1 | M6X8
1-11 092550 | 6 h4H Wb (+)SW 1 | M5X25-7T
1-12 225891 | NEJFRA 1
1-13 225892 | NE/KAB 1
1-14 225893 | #IN RN RYXF b 1 | M8¢tYY
1-15 225896 | 6 hYF Lk (+) 1 | M5X10
1-16 220549 | F194v-4H 1
1-17 242208 | #—L7L—F 1 | BC234M
1-18 231654 | NJv—=4 1 | ECO
1-19 235791 | nUNIL A ThA 1
1-20 235792 | nUNIL B b4 1
1-21 237531 | M)A’ LiN=934T (16) 1 22754
1-22 560182 | 3A°) 1 a9 -74
1-23 235748 | ARYRLIAY 1 | 810L1/O 755
1-24 220533 | hAhTN N HRET 1
1-25 222821 | Y AVAVAN=H3IAT 1 26794
1-26 092561 | 6 H9H b (+)SW 2 | M5X25
1-27 224624 | FY77Y-9 1
1-28 225317 | nJv=4 1 | ¥Y)Re—h
1-29 237716 | ANy —bF1-7 1 |135L




2.BC234M T DU
ek aey S




RHES | BHRAES B & FR B % i
2-1 875389 | IVVY 1 | EE231/61
2-2 289639 | Y)u& 1

2-3 289643 | HATYH 1 | T05

2-4 267290 | A%Ya 2 | M5X20
2-5 272744 | 4UY1L—4 1

2-6 267049 | HAHYE 1

2-7 269826 | TAIRY (+)WSW 2 | M5X25WSW
2-8 246697 | ¥777tV7") 1 19~117244
2-9 246707 | B AUk 2

2-10 246704 | T4NaAy7)—-t 1

2-11 246526 | %Y1 4 | M4x8
2-12 266402 | 6 W97 FTIEE L WSW 2 | M5X55
2- 247073 | B AV 1

2- 276868 | TuH —hn— 1

2- 269827 | FA1RY (+)WSW 1 | M5X16
2- 247157 | W7°hi=3v77)—b 1

2- 563151 | A%Y1 1 | M6X15
2- 261878 | FWb 1

2- 280144 | AYE VARV (+) 1 | 4X16

2- 273674 | 453095 -A 1

2-21 280488 | ATYYY 2 | PPL 6001
-22 261492 | AALY-IL 1 |ISCD12287
2-23 261386 | #4NY—=)b 1 |ISCD12227
2-24 055185 | C h™4hAD 1 | H28
2-25 261612 | 6 h97FYFK L WSW 3 | M5X30
2-26 272204 | E'AbY 1

2-27 264891 | E'ARYVY 2

2-28 261036 | E'AbvE"Y 1

2-29 288520 | Z—MILATYUY 1 | 8BE-KV8X11X11.8
2-30 261576 | =497’ 2

2-31 274146 | H7099%783077)—b 1

2-32 269168 | #7VF7tV7) 1 |33,34 794
2-33 269169 | 47VF2 2

2-34 269173 | A7 vy 1

2-35 269647 | #7YFHK Lk 2

2-36 269175 | 79y¥ 2 | 6.1X15X1.6
2-37 261777 | 9I-7"7Yv% 2

2-38 272095 | 77UhN=TtU7 C 1 |39~ 41744
2-39 282233 | 77UhN— 1

2-40 289727 | 979FN 7453077} 1

2-41 014210 | C h™4hAT 1 |s10
2-42 269831 | A1V (+)WSW 4 | M5X20WSW
2-43 282215 | Y97’ 1

2-44 281169 | A%Y1 1

2-45 274927 | I #TEVT) 1 | 46 ~ 53 7494




2.BC234M T DU
ek aey S




RHEES | BRES =1 71 &%k fis
2-46 283397 | 0—4 1

2-47 283165 | 19 =vv3V24NTEU7) 1 | 48 ~ 537494
2-48 283267 | 24l 1

2-49 283268 | 1—-FT7tU7Y 1 15051744
2-50 283178 | 77939 %%v7° 1

2-51 272805 | 794 1

2-52 283271 | ¥vv7° 1

2-53 283272 | ¥1-7 1

2-54 261076 | nUFY%— 1

2-55 261417 | #5390 %9%F+9b 1 | M8

2-56 280381 | AN—% 2

2-57 261256 | 6 h97FYFHK LE WSW 2 | M4X25
2-58 286739 | AN=H7'34° 1 | cJ6Y

2-59 246908 | AN AVF 1

2-60 269705 | 3N IRIES VR E Lz
2-61 274191 | 3~ 1 | 39FsFa94




3.BC234M I TV
JaqIJLRBE—A




HaEs B M B W B

272591 | YD4UN R8—-47+Y77)

1
281211 | A%Ya 2 | M4X20
282096 | A%Y1 1 | M4X16
269764 | A8—47"-Y7t€U7") 1
289987 | 7474 1
280489 | A1y ()WSW 2 | M4x20
269833 | A1V (+)WSW 1 | M4X16WSW
123147 | nN)v=4 1 | IVYIRs—b




4.BC234M I oDv

FrILE, BHEY




RHEES | HaES B & o &% &
4-1 289885 | ¥¥7°L47tU7 1 [2~15744
4-2 274472 | KUK T4 1
4-3 262991 | N=VKTFA 1
4-4 262992 | KU hN - 1
4-5 261874 | 7947 1
4-6 283905 | 4'1¥77L 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4Y774 1
4-9 282576 | H'AHYb 1
4-10 285030 | ¥ IYh 1
4-11 261871 | O Yuy’ 1
4- 261876 | Yuy 1
4- 261658 | A4~ 1
4- 264682 | %Y1 2
4- 262996 | A%Y1 4
4-1 261864 | H AHYh 1
4-1 246909 | T—AT7tY7Y) 1 |18~ 237494
41 246541 | h—AK'T4 1
4- 246538 | NIV 1
- 246540 | Lin'— 1
4-21 284816 | 7YY¥ 1 | 6.4X11X0.15
4-22 269032 | A%Y1 1
4-23 246626 | AYJ-7" 2 | 55X7.1X3
4-24 281777 | FA 1Y (+)WSW 2 | M5X55WSW-7T
4-25 269030 | ILAVk 1
4-26 246870 | 9Y)—Fhn - 1
4-27 269031 | A%Ya 1 | M5X12
4-28 273515 | 497407 1 |29 ~ 39744
4-29 273516 | 71—-I)L4vY 1
4-30 275306 | AU9XXY7ITEUTY 1 3172494
4-31 274875 | NYEY 1
4-32 261696 | 7°)—4"934T 1
4-33 265752 | #VYAINATTEUT) 1 |34 ~3974L
4-34 264031 | N47°934F 1 |35~ 37794
4-35 261115 | 4'aryk 1
4-36 261690 | #3AIN47° 1 | 160L
4-37 263038 | A—n"70-n47" 1
4-38 277887 | 7ANATEVT7T) 1
4-39 261117 | 497" 1
4-40 269828 | FAIRY (HW 2 | M5X16W
4-41 281208 | FA IRy (MW 1 | M5X16W *Y4
4-42 288306 | N'A7° 1 | 5X8X10L
4-43 281596 | 38 1 | F3-9

-10-




5. BC234M
T &

-11-



RHEES | BRES B @M & W &%k fis
5-1 221460 | K3 A% 1
5-2 220534 | BYnhn— 1
5-3 210418 | AVE'RWHIAANT 1
5-4 219431 | 6 h9RHANT 1 | ZAynN 3
5-5 022865 | Y39 FANT 1 | 8X10
5-6 242209 | M7Yh4EY A3 1 | BC234M/264M

-12-




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

Printed in japan 2020-03.J

BHEREET



